AUTO-HAK Sp. Z o.0.

ul. Stoneczna 16K 76-200 SLUPSK
POLAND
tel/fax +48 59 8 414 414; +48 59 8 414 413 AUTO
e-mail: office@autohak.com.pl
www.autohak.com.pl

Cat. no
4D, QUATTRO (B6), Cabrio, - 11.2000 - 09.2004 Al 8
S-Line, RS
4D, QUATTRO (B7), Cabrio, -10.2004 - 10.2007
S-Line, RS4
A4 AVANT
Kombi, QUATTRO (B6), -09.2001 - 09.2004
S-Line, RS
Kombi, QUATTRO (B7), -10.2004 - 03.2008
S-Line, Rs4C
E20-55R-01 0918
D 107kN

R=2000 kg

Me - 1l Nm M8 -  25Nm
M10 - 50Nm M12 - 8&7Nm
M14 - 138 Nm M16 - 210Nm

( )okm— OIOOOkm

AUTO-HAKX




13
15

x1 6 |[M12x7/0 x 2
% 7 IM10x100 x4
8 |M8x30 x 1
9 @ 30x910.5x2.5 6

10 (DIN 9021)
x1 10|19 15 x2
%ﬁa Art.nr-KL1A18 11|19 8.5 x2
N x 1 129 12.2 x2
Art.nr-BL1A18 @ 13|19 10.2 x4
9 x1 Q‘ 14\M12 x2
@/ 15\M10 x2
@ x1 16 |M 8 x1










1x ﬁ M10x100mm 13

1x 230x210,5x2,5mm

Ix ﬁ M10x100mm
Ix & 210,2mm

1x 230x210,5x2,5mm

1x @30x210,5x2,5mm

Ix &@ 210,2mm

Ix l M10

1x ﬁ M10x100mm 14

1x 230x210,5x2,5mm

\\\

1x ﬁ M10x100mm

Ix & 210.2mm

1x 230x210,5x2,5mm

1x 230x210,5x2,5mm

Ix & 210,2mm

1x M10

AW \\\V)




M12x70mm

2x 213mm
2x @ 212,2mm

®
1x 28,4mm
1x Mg
28.4mm

Ix

-10 -




	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8
	Strona 9
	Strona 10

